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Higher IGCSE (9 – 1) Revision Pack

Simultaneous Equations



Name --------------------------------
Questions

Q1.

Solve the simultaneous equations 

y − 2x = 6

y + 2x = 6

Show clear algebraic working.











x = ...........................................................

y = ...........................................................

(Total for question = 5 marks)


Q2.
 
Solve the simultaneous equations
4x + 5y = 4 
   2x – y = 9
Show clear algebraic working.
















x =
y =
 
(Total for question = 3 marks)

[bookmark: _GoBack]Q3.
 
Solve the simultaneous equations
x + 2y = −0.5
3x – y = 16
Show clear algebraic working.






























x = ........................................................... 
y = ........................................................... 
 
(Total for question = 3 marks)
 



Q4.

Solve the simultaneous equations
[image: ]





















x = ...........................................................
y = ...........................................................

(Total for question = 3 marks)



Q5.
 
Calvin has 8 identical rectangular tiles and 4 identical square tiles. 
He arranges the tiles to fit exactly round the edge of a rectangle, as shown in the diagram below.
[image: ]
Work out the area of one of Calvin's rectangular tiles.






























 ........................................................... cm2
 
(Total for question = 5 marks)
 


Q6.

Showing clear algebraic working, solve the simultaneous equations
3a + 2b = 1
a + 2b = 5














a = ...........................................................
b = ...........................................................

(Total for question = 3 marks)


Q7.

Solve the simultaneous equations
3x − y = 6
x + y = 12
Show clear algebraic working.













x...........................................................
y...........................................................

(Total for question = 3 marks)



Q8.
 
Solve the simultaneous equations

5x + y = 17
x + y = 3

Show clear algebraic working.




















x = ...........................................................

y = ...........................................................

 
(Total for question = 3 marks)
 



Q9.
 
Solve the simultaneous equations
6x + 4y = 19
5x + y = 3
Show clear algebraic working.




















x = ........................................................... 
y = ........................................................... 
 
(Total for question = 3 marks)
 



Q10.
 
Solve    x − 5y = 14
   3x + 5y = 2

Show clear algebraic working.












x = ........................................................... 
y = ........................................................... 
 
(Total for question = 3 marks)
 


Q11.
 
Solve the simultaneous equations.
5x − 2y = 9.5 
4x + 2y = 13
Show clear algebraic working.












x = ........................................................... 
y = ........................................................... 
 
(Total for question = 3 marks)


Q12.
 
Solve   x + 2y = 3 
            x – y = 6
Show clear algebraic working.










x = ..........................................................
y = ..........................................................
  
(Total for question = 3 marks)


Q13.
 
Solve the simultaneous equations
5x − 2y = 33
5x + 8y = 18
Show clear algebraic working.
















x = ........................................................... 
y = ........................................................... 
 
(Total for question = 3 marks)



Q14.
 
(a)  Solve
7x + 2y = 16 
5x – 2y = 20
Show clear algebraic working.
















x = ........................................................... 

y = ........................................................... 
(3)
(b)  Expand and simplify    (k + 9)(k – 5)








 ........................................................... 
(2)
 
(Total for question = 5 marks)
 



Mark Scheme

Q1.

[image: ]


Q2.
 
[image: ]
 




Q3.
 
[image: ]
[image: ]
 


Q4.

 
[image: ]


Q5.
 
[image: ]
 




Q6.

 
[image: ]


Q7.

 
[image: ]


Q8.
 
[image: ]
 


Q9.
 
[image: ]
Q10.
 
[image: ]
 


Q11.
 
[image: ]
 




Q12.

[image: ]


Q13.
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Q14.
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Using substitution

Question

Working

Answer

Mark

Notes

3(-05-2)-y=16
(7y=-175)
or

1045 1 2y-0s

(7y=-175)

(=05-x

3|
(™2

-16

(7x=315)
or
x+2(3x-16)=-05
(7x=315)

M1 for correctly
writing x or y in
terms of the other
variable and
correctly substituting
(condone any one
arithmetic error)

eg

0.5-2-2.5
or
16+-2.

'45'-16

M1 (dep) for
substituting their
value found of one
variable into one of
the equations

AT (dep on first M1)
for both solutions

Total 3 marks
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Working Answer [ Mark Notes
Eliminate 1 variable M1 ie7x=28orldy
correctly =43

x=t 3

AL AL NoworkingMo
A0 A0

Total 3 marks.
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‘Working Answer | Mark Notes
29-15 (= 14) M1
1472 (=7) M1 method to find length or
width of rectangle
(15-7)*2(=4) M1
T % M1
28 5 [AL
Total 5 marks
Alternative
3x+2y=29 or x+ M1
2y=15
(29-15)+2(=7) M1 | method to find length or
width of rectangle
(15-7)+2(=4) M1
T % M1
28 5 |Al

Total 5 marks





image10.jpeg
Question

Working |Answer  [Mark [Notes
number
2a Ml Comectly climinate 1
45 variable:
3 Accept 3(5 —26) + 2=
loe

A1 Al Ansdepon M1

Ans only or T&E =
MOAOAQ

Total 3 marks
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Question

Working

Answer

Mark

Notes

x=45y=15

variable
A1A1

M1 correctly eliminate 1

Total 3 marks
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Question

Working

Answer

Mark Notes

Eg 4r=1dordy=—2or—4y
or5(3-3)+y=1TorSx+3-x=
170

x+17-5=3

3 |MI for comrectly eliminating
1 variable

Al oe Al oe deponMl

Total 3 marks
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‘Working Answer Mark Notes

Eg l4x =7, l4y— 3 [Ml | For correctly

77, 6x+4(3 - 5%) = Ml climinating 1

19 Al variable

One value correct
dep on M1

Both values dep on
M1

Total 3 marks
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‘Working Mark Notes
c.g4x=16 or 20y =40 or 20, MI First stage of method to
40 or climinate one variable —
3(14+5)+ 5, allow one error only in
multiplication
cg 3475 =2or3xt5x2 M (dep on MI) method to
2 find second vaiable
[ 3 | AT forboth 4 and 2

dep on at least M1

Total 3 marks
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Q ‘Working

Answer

Mark

Notes

Egor=2250r I8y=
18y=-270r
Sr—(13-4x)=9.5 ordx + 5x—

MI

For a complete
method to climinate
one vaiable (condone
one arithmetic error)

MI

Dep on M1
For substituting the
other variable or
stasting again to
climinate the other
vasiable

Al

dep on M1
NB: candidates
showing no correct
working score 0
maks

Total 3 marks.
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Ques

Working

Answer

Mark

Notes

or
x+2x=3+12

—y=3-6

M1 for a complete method to eliminate
one variable (condone one arithmetic

crror)

Alx=S5

Aly=-1

NB: Candidates showing no working

score 0 marks

Total 3 marks
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Question ‘Working Ma Notes
3 | MI Foracomect method to
find an equation in x or y.
Allow one arithmetical
18 or ~10y=15 gl
or
25x=1500r 5x+4(5x—33)=18
or
33+2y+8y=18or
18- 33
Eg5x6-2y=330r5x6+8y=18 M For a corect substitution
or Dep on first Mlawarded
S5x-2x-15 =330r Sy +8x-15=
18
AT oe
dep on M1

Total 3 marks
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‘Question ‘Working Answer Mark Notes
a =36 3 (M for addition of given equations or
a complete method to eliminate
(condone one asithmetic error)
M (dep) for method to find second
vasiable
AL NB
Candidates showing no working
score 0 marks
b |Frok-3k-45 7 (M for 3 correct or all 4 terms correct
ignoring signs or
V+ak+ or. . +4k—45
AL

Total 5 marks
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4x+2y=23

3x-2p=5
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Diagram NOT
accurately drawn

15cm

29cm
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‘Question

Answer

Mark

Notes

MI _Adding or subtracting
comectly or correct substitution

leading to one comect equation
andoneunknown

ALAI depon M1 awarded othersise
M0AD

Total3 marks
ALAI depon M1 awarded othersise
MOAO
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Question Answer  [Mark Nates
MIfor correct method to eliminate
one variable — multiplying one or
with the operation of oth equations so the coefficient
subtraction of x ory is the same in both with
the intention to add or subtract fo
4x+5 climinate one variable(condone
10x-5y=45 one asithmetic error) or isolating
With the operation of xory in one equation and
adding substituting info the other
equation
y=2x-9and
4x+500-9)=4
MI  (dep) for substifution of found
variable into one equation or
correct method to climinate
second variable
x=350ey= | 3 |Al deponMl
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Using elimination then substitution

Question

Working

Answer

Mark

Notes

eg
x+2y
+ 6x-2y= 32
(7x=31.5)

eg
3x+6y=-15

- 3-y=16
(7y=-1755)

M1 for a correct
method to eliminate x
or y: coefficients of x
ory the same and
correct operation to
eliminate selected
variable

eg

45+2y=-05
or

3x45-y=16

eg

x+2x-2.5=-05

or
3x--25'=16

M1 (dep) for
substituting their
value found of one
variable into one of
the equations or

for repeating above
method to find second
variable

AT (dep on first M1)
for both solutions

Total 3 marks





